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SECTION - A
i} Generzal Awareness

1. Dr. Rajendra Prasad was ths 6. Reclaiming Mahatma Gandhi's vision
Prosident of India from of clean India, on his birth anniversary
(A) 194810 1952 fj;:g:;:;nﬂirinistar Na.faﬂz‘.:?[;ﬂ;:F
in .
(B) 195210 1956 S s il ik |
an Dhan
(C) 1950t 1962 i i
(D) 1954 to 1958 5y danhin : cjana
(C) Sarva Shiksha Abhiyan
2. When did the partition of Bengal take (D) Swachh Bharat Abhiyan
place 7 <
(©) 1905 D) 1921 example of compuier language 7
(A) ALGORITHM
3. Hill station "Coonoor” is located in (B) FORTRON
(A) Kerala (C) PASCAL
| (B) Tamil Nadu (D) COBOL
' (C) Karnataka -
(D) Andhra Pradesh 8. Cyclone hit Visakhapatnam
' recently.
4, Which is the racently formed 29! (A) Hudhud (B) Hadhad
(A) Vidharba _
(B) Tulunady 8. Which one of the following is called a
(C) Coromandal b e
(D) Telangana (A) Pluto (B) Venus
_ (C) Jupiter (D) Mars
5. Inthe 17" Asian Games on 2" Oct. ~
2014 India beat Pakistan in the men's 10. Who defined democracy as a
hockey final, Afier four years, 18'" “Government of the people, by the
Asian Games will be held in peopie and for ihe people” 7
(A) New Delhi (A) M. K. Ganchi
(B) Jakarta (B) Tolstoy
(C) Decca (C) Abraham Lincoin
(D) Lahore (D) Aristotle

A= 4
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1. 2 TerR e 5 st A A ST g P e =
(A) 19483 1952 T w T 5 R (2-10) W
(B) 19527% 1956 wu 93 g 7 3 98 feeet
(C) 1950% 1962 2014 3E AT
(D) 1954 ® 1959 (A) ST
2. FTE T TS e g B) ST
L (A) 1857 (B) 1930 (C) = e i
(C) 1905 (D) 1921 (D) =S IRG HAaH
3. wRIWE TR 9E R 7. i SRR A R ?
(A) (A) ALGORITHM
(B) FORTRON
(B) AEEg
C
i) S (C) PASCAL
: (D) COBOL
(D) 3 T
; 8 a3 fawmarie H
4. T e SE 20 1 TSR e { ——
() ferat (A) ETES (B) T=ES
(B) TS (C) Ts=g (D) TESs
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il) General Intelligence and Reasoning Ability

Directions (Qs. 11 - 14) : In thase
questions choose the one which does not

beleng to the group of the other three,

11.

12.

13.

14.

15.

Ax

(A) Lactometer
(B) Ammeter
(C) Thermometer

(D) Diameter

(A) Violet
(B) Toilst
(C) Biue
(D) Indigo

(&) Crow
(B) Arrow
(C) Eagle
(D) Sparrow

(A} Circle

(B) Sphere

(C) Conse

(D) Cylinder

If ‘%’ means '-', '~ means '+, '+
means 'x' and '+' means '+, then
28x%12-2 :3+5=7

(A) 23 (B) 14

©) 37 (D) 30

10.

1.

18.

18.

20.

C) 4

In a certain code language,
RCTGPVU is written as PARENTS.
How is EJKNFTGP written in that
code 7

(A) CHILDREN
(B) BUILDING

(C) FKLOGUHQ
(D) None of these

In a certain code language ‘436’
means ‘colour is fun’, '24’ means
'blue colour’ and ‘526" means ‘sky is
blue'. Which digit in that language
means ‘fun’ ?
(A) 2 (B) 3

D) 5

If the following alphabet is written in
the reverse order which will be the
lettsr to the immediate leftof 'S' 7

(A) R B T
(c) U (D) V

SLATE : ETALS :: BAKER : 7
(A)y PARKER (B} UNDER
(C) REKAB (D) RECAP

TIME : CLOCK ; : WEIGHT ; ?
(A) RULER

(8) THERMOMETER

(C) TORCH

(D) BALANCE
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Iy BT gl Ao AT

B (v 11-14) . oA A@ANF | 15 oz fiffm 52 v § RCTGPVU 31

THE © 3T H =G i | PARENTS feran smam 31| 39 %2 §

1, (&) S EJKNFTGP 1 38 forar smam 7

A) CHILDREN
@) & i
©) (C) FKLOGUHQ
(D) EawT

(D) & =g e

12. (A) SR 3

& 17. t{%fﬁﬁ%ﬁ@w 436?:%?:1‘&%
s FAL T T, 24’ 1 HoGE § =Y
(C) e FAT 3N '526' FT 4aeE & T T
(D) & = | ' % v I v S S aen
Fy
13, (A) FRT %A' :
@ (A) (B) 3
(C) 4 (D) 5
(C) TEg
) Ffrdmn 18, ¥ie 45 aviwren ) 3@ %0 © form
ST E, TS % g a1l 3 S
14. (A) & HgLEm?
(B) 7= (A) R | B T
(C) ¥ © u D) V
() e 19, SLATE:ETALS :: BAKER: ?

15. &fe ‘% & Havs - ¢, '— &1 Faas .’ (A) PARKER (B) UNDER
3 wiwaes '« el F1EAem (C) REKAB (D) RECAP
wE, 20. TIME : CLOCK: : WEIGHT : ?

28 x12-2 23+5=7 (A) RULER

A) 23 B 14 (B) THERMOMETER
(C) TORCH

(C) 37 (D) 30
(D) BALANCE
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21,

22.

23,

24,

25.

A

In a certain code, a number 5268 is
written as DMPN and 13479 is written
as AQFJL. How is 396824 written in
that code 7

(A) QLPNMJ (B) QLPNMF
(C) QLPMNF (D) QLPNDF
3,7, 11,15,

(A) 16 (B) 18

() 19 D) 15

‘Al is taller than 'B' who is shorier than
C'. '™’ is taller than ‘S' but shorter
than ‘B', 'C’ ig shorter than 'A'. Who
Is the {zllest 7

(AY A B) B

€y ¢ D) M

— i mi— . In-this. seriss

question mark can be substituted by

15 16
W B
15 18
) A

8 10 15 18 7

T2 8 3 -4

8 5 3 8 7

Here queastion mark can be
substituted by

(A) 28 (B) 30
(C) 20 (D) 29

P 0 A b
Directions (Os. 26-27) ' P,Q,R, S, T, U
are sitting in a closed circle facing the centre
not necessarily in this order. ‘R’ is sitting
2" left to ‘P who is sitiing in the middle of
'S and 'T'. 'Q' is sitting between ‘U’ and
‘R ‘U' is diametrically opposite to T". »
26. Who s sitting immediately to the left
of 'U' 7
(A) S (B) P
(o D) Q

27. Who is eitting diametricaily opposite
to'Q ?
(A) U (B8 T
€ P (D) R

28. Boy: Girl:: Brother: ?
(A) Father
(B) Sister
(C) Brother-in-law
(D) Uncle

28. 2,8, 27, 64,
Choose the appropriate numberto fill
in the above blank.

(A) 55 (B) 99
(C) 512 (D) 125

30. 5217381965421965804321786
In the above series how many 1'sare
there pracedes by 2 and immediately

followed by 7 2
(A) 1 (B) 2
(C) 8 (D) 4
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2t. wkFfsemged, soesTEarH DMPN fem(w. 26~27): P QRS T U
forad 8 af 13479 R AQFUL o ¥ | TR T A Fm i dRaPmm a3 ¥ | wwh
gzl soese A R 7 | WA IAR IR 95 P % A
(A) QLPNMJ (B) QLPNMF a;’lzg%um;m:;hﬁ: f;;ﬁiﬁ; i'
(C) QLPMNF (D) QLPNDF | & =owfia wiema g

22. 3,7,11,15,2? 26. 'UFgraadisamdme?

(A) 18 (B) 18 (A) S (B) P
© 19 (D) 15 € T 0) Q

23, AMEBIIWMEICETHE M 27.. Q% e R = A & 7
w's 3 daRE B AT O g =
A A d | T Tl S A 7 s (Bl'R
(A) A (B) B 28. TEHI:EIHI YR T
C) C D) M (A) T

(B) =&
24, —?.%.g,?,%mﬁmm (C) Sfism
e @ T A GFAE | (D) ==
15 18 20, 2:8,27,64,
(A) % (B) 7
F98 faa o w o T w1 e
@) o 3 ifie
(A) 55 (B) 99

25. 8 10 15 18 2 (C) 512 (D) 125
1 2 5 3 4
T e 30. 5217381965421965894321786
weA g &1 9% 78 & v & ::%?:mﬁ;mﬁm%ézm
(A) 28 (B) 30 A 1 B) 2
() 20 (D) 29 (©) 3 ©) 4
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i) Arithmetical and Numerical Ability

| ekhana saves Rs. 15 on the
purchase of a book when a discount
of 20% is given. How much did she
pay for the book ?

(A) Rs. 80

(B) Rs.75

(C) Rs.80

(D) Cannot be dstermined

16 men can finish a2 work in 12 days.
After they worked for 4 days, some
more men joined them and they
together completed the remaining
work in4 days. How many more men
joined in 7

(A) 8 (B) 16

(C) 32 (D) 10
Erd

[fthe —3- of a nurmber is 86, what will
3tﬁ

be E of that number ?

(A) 48 B8) 72

(C) 108 (D) 182

The average age of 3 persons is
30 years. If the ratio of their ages s
315+ 7, what is age of the youngest
person ?

(A) Byrs

(BY 12yrs

(C) 15yrs

(D) Nons of these

=10

35.

36.

v

38,

‘A train running at 36 Km/h takes
30 seconds to cross a signal post.

Find the length of the train.

(A) 300 metres

(B) 250 metres ’
(C) 360 metres

(D) 330 metres

A 300 metre long train is running at a
speed of 90 Km/h. How many
seconds will it take to cross a
200 mitrs long train running in the
opposite direction at a speed of
60 Km/h ?

(A) 80 ® 12
' ,
(©) 20 o 72

The psrimetsr of a square Is 38 cm.
Find its area.

(A) 18sg.cm
(B) 72sqg.cm
(C) Bisgcm
(D} ®0sg.cm

The area of the base of a cone is
36 sg.cm. The volume of thisccone is
2186 c.c. Find its haight.

(A) 20¢cm
(Cy 18cm

(B) 19cm
(D) 12cm

H3A=4B, 2C=3B,findA:B:C.
(A) 6:8:8 (B) 8:6:8
(C) 9:8.6 (D) 8:9:6
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iif) srmiorda vd HEETenS graa
ST 7 20% 21 B W U e @lie 35. 36 fo. 1. fd gor e & = ol v
AT TR 156 s 2 | S A & ?mﬁgﬁjﬂﬁwiﬁ
’ 30 | 3§
Forg 3w o 4 R ¢ TR YT T |
(B) ®.75 (B) 2504
(C) %60 (C) 3s0H=R
(D) TifTem o i s a=a (D) ss0HA
T 16 e 12 B R ) 36. t;aasopnﬁamréaﬁ‘ftwu_&.rﬁ./
é Hg T B dredt 71 60 f A1 /Hmvfa B
% IR 9 ¥ 7 F 918 §9 I 200 HE oo i
ST 376 WIS Bl © S 2w iRt A %! e et S o qr R ?
s RN FHER A i Ra | e (A) 60 B) 12
e e wfE g d ? €} 20 (D) 5
(A) 8 (B) 16 S
(C) 32 by 10 37. TEmFNHIIRE 36 E. Al ¥ | I aTES
5 T ST |
wﬁ@@ﬂg%m%%ﬁ?ﬂ? (A) 18T &
mmiwﬁn? (B) 72@ .
(A) 48 B) 72 (C) s1=idE. .
(C) 108 (D) 192 (D) 60 A,
i =it o aftem s a0 TR | 7R 38. UF Vg = 00 T &A%G 36 T A4,
" y T30 9F S EARE 216 T H.AL B
3 AT 1 HITE 3: 5 7 7, A TEH et S R |
T ST S ) ST R 1 (A) 20% .1 B) 19%.d
(A) 64 (C) 18@ . (D) 12&.
8) 124 39. AE3A=4B,2C=38% FA:B:C
© 159 T it |
y (AYy 6:8:9 (B) B:6:9
(D) FHEETE (C) 9:8:6 (D) 8:9:6
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40. For how much money, simple interest

41.

42

43.

Ax

for 3 years at 6% iz Rs, 8,000 7
(A) Rs. 50,000
(B) Rs. 80,000
(C) Rs. 40,000
(D) Rs. 55,000

What is the sum to be invested to
purchase 500 sharas of Rs. 100 which
is quoted at a pramium of 10% 7

(A) Rs. 50,000

(B) Rs. 45,000

(C) Rs. 60,000

(D) Rs, 55,000

Acard is drawn at random from a pack
of cards. What is the probability that
the card drawn is-a king ?

a2 1
*) 52 ©) 13
) 4
(©) 13 (®) 15

How many 3 digit odd numbers can
be made from the digits 5,2, 1,3,4 7

(without repetition)
(A) 30 (B) 60
(C) 36 (D) 20

Out of 10 players, how many teams
of 3 players can be formad 7

(A) 120 (B) 240
(C) &0 0y 72

-12-

45,

47.

43.

49,

30.

AT OO e

Simplify : 8 x 15 +80f3-12
(A) 10 (B) 12

(C) 8 (D) 8

What s the least number which when
decreased by 2 is divisible by 6, 7 and
87

(A) 180 (B) 170

(C) 180 (D) 150

The product of two numbers is
396 x 576 and their LCM is 8338, Find
their HCF.

(A) 46 (B8) 36

(C) 28 (b) 186

The diagenals of a rhombus are of
lengths 16 cm and 72 cm. Find the
length of iis side

(A) 10em (B ttecm
(C) 2em (DY Bem
How many ditferent letier

arrangements can be made from the
lettars of the word RECORD ?

(A) 120 (B) 380
(C) 720 (D) 80

The sum of the two numbers is 55.
Their difference is 5. Find the smaller
number.

(A) 40 (B) 25

(CY 45 (D) 15



40.

41.

8% TTE =u7e ol foraw] (H W 3 |id

=1 5979 %.9,000 571 7
(A) % 50,000
(B) %. 60,000
(C) ¥.40,000
(D} &. 55,000
10% SHftes =19 100 3. % 500 T
i % v et el PR = el i ?
(A) % 50,000
(B) %.45,000
(C) %.60,000
(D) . 55,000
. T T H e ® U T AReee
Eraren ST & | S8 T T €4
AR 7
1 1
& 55 ® =3
© = O =
13 15

. FIWELS, 2, 1,3, 4 3 8 R O

s Rmded ST
(A) 30 (B) 80
{C) 38 (D) 20
! 15%@&%%3@@&%&%%@'
ImEE S TSR !
(A 120 (B) 240
(C) &0 (D) 72

-1

43,

48.

47,

48.

439

50.
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AT 3 - 12F18x 15 46
(&) 10 (B) 12
(C) 8 (D) 8
TE 2R S i &, e A A
B s T 6, 7 3 8 ¥ R
FEE?

(A) 180 (B) 170
(C) 160 (D) 150
B! W s 396 x 576 8 HN

3957 TETHIUE 6336 7 | A% THHITE
TAT F 978 |

(A) 48 (B) 36
(C) 26 (D) 16
s reads & 2 fel 6w 8

168, . s 72@. 1. | ZE wga| Bl
T YAl Iy |

(A) 108 Hi. B 11%.4.
(€) 9&.4u (D) 8.
RECORD % % 0 & e 37
T R EE e gRa 8
(A) 120 (B) 360
(C) 720 (D) B0

2 TEme] &1 W1g 55 B & | I
H=d 5| U T o) g ve S |
(A) 40 (B) 25
(C) 45 (D) 15
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51.

Se.

53.

54,

58.

Asx

SECTION-B

Which one of the following is best
gxample of semi-liguid lubricant ?

(A) Lard cil
(B) Castor oil
(C) Graphite
(D) Grease

Viscosity is a measure of hydraulic
fluids based on its

(A) Temperature
(B) Thickness
(C) Resistance
(D} Pressure

The flainess of a surface checked by
(A) Ruler _

(B) Straight edge

(C) Trysguare

{D} Combination set

To tighten the bolts and nuts with a
specified torque which of the
following too! is used 7

(A) Speeder handla
(B) Ratchat

(C) Torgue wrench
(D) Extension bar

The speed of a D.C.Motor is directly
proportional to

(A) armature current
(B) fieldcurrent
(C) impressec voliage

(D) number of poles

56.

a7.

58.

o8,

S D0 G 1 1 A

Post Specific Subject-Related Questions

Which gauge is used to measure the
cylinder diameter ?

(A) Bore dial gauge

(B) Vemier caliper ’
(C)
(D)

Micrometer
Devidar

Which of the foliowing is most
important guality of any lubricant 7
(A) Viscosity

(B) Specific gravity

(C) Specific heat

(D) Emuisification

Brass is an alloy of

(A) Copper and zinc

(B} Copper and ran

(C) Copper and Aluminium
(D) Copper and tin

The synchronous metor has

(A) Constant speed

(B) Variable speed

(C) Constant poles

(D) Constant size ~

Which gauge is used to measure the
thickness of shest 7

(A)
(B)
(C)
(D)

wire gauge
sheet gauge
fesler gauge
pitch gauge




5%.

92,

3.

As

JDD-48/JE-E&M/X-14

- wWm-7
e Afifes Reg-dadftug

-3 Srem = P i e 3 S
&7

() ¥R IE A

(B) TwE aF

(©) THEe

(D) T\

Teita 5a1 & 39 R W i
EIGTE
(A) T

(B) e

(C) =

(D) ==

TR T TR T T
() =

(B) #HE®R

(C) T

(D) wgrfide

NE i ek e e PR T T e e

¥ fou e § 3 s SemImEm d

AT S E 7
(A) TS
(B) W=

(C) T&E=
(D) THEEYH SR

. DC SadiTE FrEE-gE

T2

(A) =W
(B) &3gm
(C) TR aTees
(D) gaidiEEn

-5

56. Thferet =1 = W & fom S T
IR 7
(A) RS I
(B) I Fhw
(C) wmEER
(D) fEam=

57. Qe SHE VAT SE A R ©
(A) frafmres
®) Eftme e
() TRz
(D) T

58. g ERee il
(A) ATET ST FE
(B) w1
(C) =1 R egHIIA
(D) wesnsfes

50, wwfistmaiatdsart

(A) BRIm

(B) TREwIle =T

(C) BrRgE

(D) FEr¥=R s
80, =E ¥ HITE A & T EeE e =

TEmEEE 7

(A) ST

(B) ST

(C) SR

(D) F=Ts
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61.

62.

63,

Ax

Three point starter is used to start
(A) D.C.shuntmotor

(B) Series maotor

(C} Universal motor

(D) Induction motor

Which of the law states that in any
closed cireuit the current is directly
proportional to the voltage, provided
the physical conditions of the circuit
are kept constant ?

(A) Voltage law

(B)

(C) Kirchhoff's law
(D)

Currant law

Ohm's law

The direction of magnetic lines of
force around a current carrying
conductor can be determined by

(A) Right hand thumb rule
(B) Faraday’s law
(C) Lenz's law

(D) Boyl's law

The properiy of a substance which
oppose the flow of current is known
as

(A) conductance
(B} reluctance
(C) resistance
(D) admittance

-15..

67.

70.

V0 0 A

The speed of a D.C.Molor is directly
proportional to ;

(A) armature current

(B) field current

(C} impressed voltage

(D) number of poles v

Compare to 16 SWG wire 8 SWG
wire is

(A) thinner

(B) thicker

(!-.'i} equal

(D) lighter

The insulation resistance test is
carried out by the instrument

(A) ammeter

(B) wolimeter
(C) megger

(D) energymeter

What is the unit of electrical
resistance ?

(A) Joule (B} Ampere
(C) Woait (D) Obhm

-

The unit of current is
(A) ampere (B) watt
(C) wolt (D) coulomb

The unit of resistivity is
(A) ohm (B) ohm/m
(C) ohm-m (D) mho
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Property of material which allows it
to be drawn out into wires is

(A) Ductility

(B) Solder ability

(C) Super conductivity

(D) Malleability

Metals possess physical and
mechanical properties. Which one of
the following is a physical property ?
(A) Fusibility

(B) Tenacity

(C) Ductility

(D) Malleability

Fastening of one part of a repe to the
other is known as

(A) Loop
(B) Bight
(C) Knot
(D) Round tum

The tensile stress is tensile load
divided by
(A) Length of work piece

(B) Cross sectional area of the work

piece

(C) Circumferential area of the work

piecs

(D) Volume of the work piece

g7,

99

100.

Wh.tc.-h of the following material has
the highest melting point 7

(A) Copper

(B) Aluminium

(C) Tungsten

(D) Gold

The permanent magnet maoving coil
type instruments are best suited for

(A) A.C.Measurement

(B) D.C.Measurement

(C) A.C./D.C.Measurement
(D) Frequency measurement

All semiconductors in their last orbit
have

(&) 8slectrons
(B) 2electrons
(C) 4 electrons
(D) & electrons

Three equal resistances when
combined in series are equivalent to
890 W. Their equivalent resistance
when combined in parallel will be

(A) 270 W
(B) 30W
(C) 810W
(D) 10w ~

A shunt generator gives the greatest
voltage at

(A} No-load

(B) Full load

(C) Open field

(D) Drooping
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This booklet contains 24 pages.

Please check all the pages of the Booklet
carefully. In case of any defect, please ask
the Invigilator for replacement of the Booklet.

Directions : Each question or incomplete
statement is followed by four alternative
suggested answers or compigtions. In sach
case, you are required 1o select the one that
correctly answers the question or completes
the statement and blacken (@) appropriate
circle A, B, C or D by Biue / Black Ball-Point
Pen against the question concerned in the
Answer-Sheet. (For V.H. candidates
corresponding circle will be blackened
by the scribe)

. Mark your answer by shading the appropriate
circle againgt each question. The circle should
be shaded compietely without leaving any space.

The corract method of shading is given below.
TWavong Metnoa [Wrong Method || Wrang Method || Comect Method

CROCIOBCOIC®0 0000

The Candidate must mark his/her response
afler careful consideration.

There is only ong correct answer 10 each
question. You should blacken (@) the circle
of the approprizte column, viz, A, B, Cor D,
If you blacken (@) more than one circle
against any one question, the answer will be
treated as wrong. I you wish lo cancel any
answer, you should completely erase that black
mark in the circle in the Answer-sheel, and
then blacken the circle of revised reésponse.

A machine will read the coded information
in the OMR Answer-Sheet. In case the
information is incomplete/differant fram the
infermation given in the application form, the
candidature of such candidats will be treated
as cancealled.

Use the space for rough work given in the
Question Book!st only and not on the Answer
Sheet.

You are NOT required to mark your answers
in this Bookigt. All answers must be
indicated in the Answer-Sheet only.
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